R i
8.00m 1 m
e M\%~
&E %w 276

= 1 ‘ - R4
=<7 D e f BESNUSSS
— _.w :
7.00m I:: ~vf 7 WM
V’MVWWWWWVWW‘"\%"W\/* W
vi IA(J a
1 i1 0
12
BEXELER
1, H:
2. R
3-a
3-b
4-a
4-b,
5. W5k
6. gk
e —————— e e _ = " E—— e e S
‘- » S eSS e
7.00m - 7 5 > .,
S N ’“ — — 3

PAEXHERLIERX

TR BERELEN. BEXBELER (1,/50)



WWM\M’W\——;)V:;{Q\/ ~ 8. 00m
M k =

e T T e ~ 3 SN e T —-'M

— : D e A =

——————
i > Ko !
N L TN

TN T ST T [

— 7.00m
10
11

RERIELEE
1, RAKHEFHEL 7. BEIKEAERS
2, KA GBEHEL) 8, BEK R
3-a. BERE L 9. BFKEML
3-b, HBEREL 10, BEEfE4
4a.” KA By 11, BiBaEi+
4-b. HHEHED~KHAEIY 12, Rt (Aokhid)
5. BEIRERE L (SDO1D#AE) 13 s e+
6. BEIKEMIEU DL
e N = e - e = e W T
TE— = B LT T e =T >
e —~— = =) B8 2= "‘ — —
:—— - e ——— - 7_99_“1
— :: W P ‘I_ " \ —
Swe . .. - 9
s = - 10
12.”"’@' SDO1 12
Q_ , 2m

REREELIER

(EJEd

E%
k<]

ERLETERN. AERBELER (1,/50)



